| N of associated (recoToSim) looper tracks vs dxy |

[\ of associated (recoToSim) tracks vs dxy |

N of reco track vs dxy

R= 5]
£
&)
o —
— > o
3 9
Jo
S —
£ |z =
o 2
H
8
o 5 )
5
g
el
B K o
: b
[
43 e
1 8
8 o
Lo = N
- 3 1
! &
o 8 o
N 4 i
1 8 [
S 5 S
z
sxoen aredidnp H —
IS 15
£ 152}
&)
ER
=)
e 39
o
=
IS
B 2

syoel axey

56 =15 -0 5

5

0

0

S)oel) aniy

10 15 20
track dxy (cm)

-20 -15 -10 -5

5

0

[N of associated (recoToSim) tracks vs dz_]

20

10

0

10 15 20
track dxy (cm)

5

0

i
H N
[ < [ o — o o
o o o o 4 o o
- - - -
syoell oney

=2

N of reco track vs dz

syoen

20

10

track dz (cm)

track dz (cm)

track dz (cm)

track dz (cm)



	Contents
	Page 1


